# **OPERATOR IDENTITIES FOR FUNCTIONS DEFINED BY** POWER SERIES WITH APPLICATIONS FOR PERSPECTIVES

S. S. DRAGOMIR<sup>1,2</sup>

ABSTRACT. In this paper we obtain some identities for functions defined by power series with complex coefficients  $f(z) = \sum_{n=0}^{\infty} \alpha_n z^n$  convergent on the open disk  $D(0, R) \subset \mathbb{C}$ , R > 0 or on  $\mathbb{C}$ , for  $R = \infty$ . Amongst other we show that if A, B are bounded linear operators on the Hilbert space with A positive,  $\alpha \in [0,1]$  and ||AB||,  $||A^{\alpha}BA^{1-\alpha}|| < R$ , then

$$f(AB) A^{1-\alpha} = A^{1-\alpha} f(A^{\alpha} B A^{1-\alpha}).$$

Applications for the noncommutative perspective

$$\mathcal{P}_{\Phi}(B,A) := A^{1/2} \Phi\left(A^{-1/2} B A^{-1/2}\right) A^{1/2},$$

where  $\Phi: J \subset \mathbb{R} \to \mathbb{C}$  is continuous, B selfadjoint, A positive and invertible with Sp  $(A^{-1/2}BA^{-1/2}) \subset J$ , are also given.

### 1. INTRODUCTION

Let  $\Phi$  be a continuous function defined on the interval J of real numbers and taking complex values, B a selfadjoint operator on the Hilbert space H and A a positive invertible operator on H. Assume that the spectrum Sp  $(A^{-1/2}BA^{-1/2}) \subset$ J, the interior of J. Then by using the *continuous functional calculus* for selfadjoint operators we can define the *perspective*  $\mathcal{P}_{\Phi}(B, A)$  by setting

(P) 
$$\mathcal{P}_{\Phi}(B,A) := A^{1/2} \Phi\left(A^{-1/2} B A^{-1/2}\right) A^{1/2}.$$

It is well known that (see [10] and [9] or [11]), if  $\Phi$  is an operator convex (concave) function defined in the positive half-line  $(0, \infty)$ , namely

$$\Phi((1-t)C + tD) \le (\ge)(1-t)\Phi(C) + t\Phi(D)$$

for any  $t \in [0, 1]$  and positive invertible operators C, D, then the mapping

$$(B, A) \mapsto \mathcal{P}_{\Phi}(B, A)$$

defined in pairs of positive definite operators, is operator convex (concave), namely we have

$$\mathcal{P}_{\Phi}\left(\lambda B + (1-\lambda)D, \lambda A + (1-\lambda)C\right) \le (\ge)\lambda \mathcal{P}_{\Phi}\left(B, A\right) + (1-\lambda)\mathcal{P}_{\Phi}\left(D, C\right)$$

in the operator order for any positive invertible operators A, B, C, D and  $\lambda \in [0, 1]$ .

In the recent paper [1] we established the following reverse inequality for the perspective  $\mathcal{P}_{\Phi}(B, A)$  of a continuous convex function  $\Phi$ .

RGMIA Res. Rep. Coll. 21 (2018), Art. 1, 8 pp.

<sup>1991</sup> Mathematics Subject Classification. 47A60, 47A63, 47A64.

Key words and phrases. Functional calculus, Noncommutative perspectives, Power series, Operators on Hilbert spaces.

Let  $\Phi : [m, M] \to \mathbb{R}$  be a *convex function* on the real interval [m, M], A a positive invertible operator and B a selfadjoint operator such that

$$(1.1) mA \le B \le MA$$

then we have

(1.2) 
$$0 \leq \frac{1}{M-m} \left[ \Phi(m) (MA - B) + \Phi(M) (B - mA) \right] - \mathcal{P}_{\Phi}(B, A)$$
$$\leq \frac{\Phi'_{-}(M) - \Phi'_{+}(m)}{M-m} \delta_{m,M}(B, A)$$
$$\leq \frac{1}{4} (M-m) \left[ \Phi'_{-}(M) - \Phi'_{+}(m) \right] A,$$

where

$$\delta_{m,M}(B,A) := A^{1/2} \left( M \mathbb{1}_H - A^{-1/2} B A^{-1/2} \right) \left( A^{-1/2} B A^{-1/2} - m \mathbb{1}_H \right) A^{1/2}$$

is the perspective generated by the concave function  $\Phi : [m, M] \to \mathbb{R}, \ \Phi(t) = (M-t)(t-m)$ .

Let  $\Phi : J \subset \mathbb{R} \to \mathbb{R}$  be a twice differentiable function on the interval  $\mathring{J}$ , the interior of J. Suppose that there exists the constants d, D such that

(1.3) 
$$d \le \Phi''(t) \le D \text{ for any } t \in J.$$

If A is a positive invertible operator and B a selfadjoint operator such that the condition (1.1) is valid with  $[m, M] \subset \mathring{J}$ , then we have the following result as well [2]

(1.4) 
$$\frac{1}{2}d\delta_{m,M}(B,A)$$

$$\leq \frac{1}{M-m}\left[\Phi(m)\left(MA-B\right)+\Phi(M)\left(B-mA\right)\right]-\mathcal{P}_{\Phi}(B,A)$$

$$\leq \frac{1}{2}D\delta_{m,M}(B,A).$$

If d > 0, then the first inequality in (1.4) is better than the same inequality in (1.2).

For other recent results for perspectives, see [3]-[8] and [12]-[15].

Further, let B be a selfadjoint operator on the Hilbert space H and A a positive invertible operator on H. Let  $\Phi$  be a continuous function defined on the interval Jand assume that  $\operatorname{Sp}(BA^{-1}) \subset \mathring{J}$ , then by using the continuous functional calculus for selfadjoint operators we can also define the *quasi-perspective*  $\mathcal{Q}_{\Phi}(B, A)$  by setting

(1.5) 
$$\mathcal{Q}_{\Phi}(B,A) := A\Phi\left(A^{-1}B\right).$$

We observe that if A and B are commutative with Sp  $(BA^{-1}) \subset \mathring{J}$ , then

(1.6) 
$$\mathcal{P}_{\Phi}(B,A) = \mathcal{Q}_{\Phi}(B,A)$$

It is then natural to ask whether or not the equality (1.6) holds for some subclasses of continuous functions  $\Phi$  defined on the interval J and non-commutative selfadjoint operators A and B with A a positive invertible operator and

$$\operatorname{Sp}\left(A^{-1/2}BA^{-1/2}\right), \ \operatorname{Sp}\left(BA^{-1}\right) \subset \mathring{J}.$$

 $\mathbf{2}$ 

An answer to this question will be provided in the last section by the use of some identities of interest established below for functions defined by power series with complex coefficients and convergent on the open disk  $D(0,R) \subset \mathbb{C}$ , R > 0 or on  $\mathbb{C}$ , for  $R = \infty$ . Some other operator equalities of interest are established.

#### 2. Main Results

We have the following identity:

**Theorem 1.** Let  $f(z) = \sum_{n=0}^{\infty} \alpha_n z^n$  be a function defined by power series with complex coefficients and convergent on the open disk  $D(0,R) \subset \mathbb{C}$ , R > 0 or on  $\mathbb{C}$ , for  $R = \infty$ . If  $A, B \in \mathcal{B}(H)$  with A positive,  $\alpha \in [0, 1]$  and ||AB||,  $||A^{\alpha}BA^{1-\alpha}|| < \infty$ R, then

(2.1) 
$$f(AB) A^{1-\alpha} = A^{1-\alpha} f\left(A^{\alpha} B A^{1-\alpha}\right).$$

*Proof.* We claim that for any natural number  $n \ge 0$  and  $\alpha \in [0, 1]$  we have

(2.2) 
$$(AB)^n A^{1-\alpha} = A^{1-\alpha} \left( A^{\alpha} B A^{1-\alpha} \right)^n.$$

For n = 0, the identity reduces to  $A^{1-\alpha} = A^{1-\alpha}$  while for n = 1 it becomes  $ABA^{1-\alpha} = ABA^{1-\alpha}.$ 

Assume that it holds for "n" with  $n \ge 2$  and let us prove it for "n + 1". We have

$$A^{1-\alpha} (A^{\alpha} B A^{1-\alpha})^{n+1} = A^{1-\alpha} (A^{\alpha} B A^{1-\alpha})^n A^{\alpha} B A^{1-\alpha}$$
$$= (AB)^n A^{1-\alpha} A^{\alpha} B A^{1-\alpha}$$
(by induction hypothesis)
$$= (AB)^n A B A^{1-\alpha} = (AB)^{n+1} A^{1-\alpha}$$

and the identity (2.2) is thus proved.

Now, let  $m \ge 1$ , multiply (2.2) by  $\alpha_n$  and sum from 0 to m to get

(2.3) 
$$\left(\sum_{n=0}^{m} \alpha_n \left(AB\right)^n\right) A^{1-\alpha} = A^{1-\alpha} \sum_{n=0}^{m} \alpha_n \left(A^{\alpha} B A^{1-\alpha}\right)^n.$$

Since ||AB||,  $||A^{\alpha}BA^{1-\alpha}|| < R$  then the series

$$\sum_{n=0}^{\infty} \alpha_n \left(AB\right)^n \text{ and } \sum_{n=0}^{\infty} \alpha_n \left(A^{\alpha} B A^{1-\alpha}\right)^n$$

are convergent in strong topology of  $\mathcal{B}(H)$  and

$$\sum_{n=0}^{\infty} \alpha_n \left(AB\right)^n = f\left(AB\right) \text{ and } \sum_{n=0}^{\infty} \alpha_n \left(A^{\alpha}BA^{1-\alpha}\right)^n = f\left(A^{\alpha}BA^{1-\alpha}\right),$$
  
y letting  $m \to \infty$  in (2.3) we deduce the desired result (2.1).

then by letting  $m \to \infty$  in (2.3) we deduce the desired result (2.1).

**Corollary 1.** With the assumptions of Theorem 1 and if A is invertible, then we have the equality

(2.4) 
$$f(AB) = A^{1-\alpha} f\left(A^{\alpha} B A^{1-\alpha}\right) A^{\alpha-1}$$

provided  $\|AB\|$ ,  $\|A^{\alpha}BA^{1-\alpha}\| < R$ . In particular.

(2.5) 
$$f(AB) = A^{1/2} f\left(A^{1/2} B A^{1/2}\right) A^{-1/2}$$

provided ||AB||,  $||A^{1/2}BA^{1/2}|| < R$  and

(2.6) 
$$f(AB) = Af(BA)A^{-1}$$

 $if \left\| AB \right\|, \ \left\| BA \right\| < R.$ 

We also have:

**Corollary 2.** With the assumptions of Theorem 1 and if A is invertible with  $||A^{-1}B||, ||A^{-1/2}BA^{-1/2}|| < R$ , then

(2.7) 
$$Af(A^{-1}B) = A^{1/2}f(A^{-1/2}BA^{-1/2})A^{1/2}.$$

**Remark 1.** Since  $||AB|| \leq ||A|| ||B||$  and

$$||A^{\alpha}BA^{1-\alpha}|| \le ||A||^{\alpha} ||B|| ||A||^{1-\alpha} = ||A|| ||B||$$

then by assuming ||A|| ||B|| < R it follows that ||AB|| < R and  $||A^{\alpha}BA^{1-\alpha}|| < R$ for any  $\alpha \in [0,1]$ . Therefore, if we assume that ||A|| ||B|| < R in Theorem 1 then we get the equality (2.1). In particular, if R = 1 and ||A||, ||B|| < 1, then the conclusion of Theorem 1 remains valid. This fact provides many examples since numerous fundamental functions defined as power series are convergent on the open disk D(0,1). Some instances of interest are provided below.

If we consider the exponential function  $f(z) = \sum_{n=0}^{\infty} \frac{1}{n!} z^n = \exp(z), z \in \mathbb{C}$ , then from (2.4)-(2.6) we get

(2.8) 
$$\exp(AB) = A^{1-\alpha} \exp(A^{\alpha}BA^{1-\alpha}) A^{\alpha-1}$$
$$= A^{1/2} \exp(A^{1/2}BA^{1/2}) A^{-1/2} = A \exp(BA) A^{-1}$$

for any  $A, B \in \mathcal{B}(H)$  with A positive and invertible and  $\alpha \in [0, 1]$ .

Similar equalities hold for the trigonometric functions

$$\sin z = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} z^{2n+1}, \ \cos z = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n)!} z^{2n}$$

or for hyperbolic functions

$$\sinh z = \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} z^{2n+1}, \ \cosh z = \sum_{n=0}^{\infty} \frac{1}{(2n)!} z^{2n}.$$

If we consider  $f(z) = \sum_{n=0}^{\infty} z^n = (1-z)^{-1}$ ,  $z \in D(0,1)$ , then for any  $A, B \in \mathcal{B}(H)$  with A positive and invertible, ||A||, ||B|| < 1 and  $\alpha \in [0,1]$ , we have

(2.9) 
$$(1_H - AB)^{-1} = A^{1-\alpha} (1_H - A^{\alpha} B A^{1-\alpha})^{-1} A^{\alpha-1}$$
  
=  $A^{1/2} (1_H - A^{1/2} B A^{1/2})^{-1} A^{-1/2} = A (1_H - BA)^{-1} A^{-1}.$ 

If we consider  $f(z) = \sum_{n=1}^{\infty} \frac{1}{n} z^n = \ln(1-z)^{-1}$ ,  $z \in D(0,1)$ , then for any A,  $B \in \mathcal{B}(H)$  with A positive and invertible, ||A||, ||B|| < 1 and  $\alpha \in [0,1]$ , we have

(2.10) 
$$\ln(1 - AB)^{-1} = A^{1-\alpha} \left[ \ln \left( 1_H - A^{\alpha} B A^{1-\alpha} \right)^{-1} \right] A^{\alpha-1}$$
$$= A^{1/2} \left[ \ln \left( 1_H - A^{1/2} B A^{1/2} \right)^{-1} \right] A^{-1/2}$$
$$= A \left[ \ln \left( 1_H - BA \right)^{-1} \right] A^{-1}.$$

4

We have:

**Theorem 2.** Let  $f(z) = \sum_{n=0}^{\infty} \alpha_n z^n$  be a function defined by power series with complex coefficients and convergent on the open disk  $D(0,R) \subset \mathbb{C}$ , R > 0 or on  $\mathbb{C}$  for  $R = \infty$ . If  $A, B \in \mathcal{B}(H)$  with A positive,  $\alpha \in [0,1]$  and  $\|BAB^*\|$ ,  $\|A^{\alpha}B^*BA^{1-\alpha}\| < R$ , then

(2.11) 
$$f(BAB^*)BA^{1-\alpha} = BA^{1-\alpha}f(A^{\alpha}B^*BA^{1-\alpha}).$$

*Proof.* We claim that for any natural number  $n \ge 0$  and  $\alpha \in [0,1]$  we have

$$(2.12) \qquad (BAB^*)^n BA^{1-\alpha} = BA^{1-\alpha} \left(A^\alpha B^* BA^{1-\alpha}\right)^n$$

For n = 0 the equality reduces to  $BA^{1-\alpha} = BA^{1-\alpha}$  while for n = 1 it becomes  $BAB^*BA^{1-\alpha} = BAB^*BA^{1-\alpha}$ .

Assume that it holds for "n" with  $n \ge 2$  and let us prove it for "n + 1". We have

(2.13) 
$$BA^{1-\alpha} \left(A^{\alpha}B^{*}BA^{1-\alpha}\right)^{n+1}$$
$$= BA^{1-\alpha} \left(A^{\alpha}B^{*}BA^{1-\alpha}\right)^{n} A^{\alpha}B^{*}BA^{1-\alpha}$$
$$= (BAB^{*})^{n} BA^{1-\alpha}A^{\alpha}B^{*}BA^{1-\alpha} \text{ (by induction hypothesis)}$$
$$= (BAB^{*})^{n} BAB^{*}BA^{1-\alpha} = (BAB^{*})^{n+1} BA^{1-\alpha}$$

and the identity (2.13) is thus proved.

Now, let  $m \ge 1$ , multiply (2.13) by  $\alpha_n$  and sum from 0 to m to get

(2.14) 
$$\left(\sum_{n=0}^{m} \alpha_n \left(BAB^*\right)^n\right) BA^{1-\alpha} = BA^{1-\alpha} \sum_{n=0}^{m} \alpha_n \left(A^{\alpha}B^*BA^{1-\alpha}\right)^n.$$

Since  $\|BAB^*\|$ ,  $\|A^{\alpha}B^*BA^{1-\alpha}\| < R$  then the series

$$\sum_{n=0}^{\infty} \alpha_n \left( BAB^* \right)^n \text{ and } \sum_{n=0}^{\infty} \alpha_n \left( A^{\alpha}B^*BA^{1-\alpha} \right)^n$$

are convergent in strong topology of  $\mathcal{B}(H)$  and

$$\sum_{n=0}^{\infty} \alpha_n \left( BAB^* \right)^n = f \left( BAB^* \right) \text{ and } \sum_{n=0}^{\infty} \alpha_n \left( A^{\alpha}B^*BA^{1-\alpha} \right)^n = f \left( A^{\alpha}B^*BA^{1-\alpha} \right),$$

then by letting  $m \to \infty$  in (2.14) we deduce the desired result (2.11).

**Corollary 3.** With the assumptions of Theorem 2 and if A and B are invertible, then we have the equality

(2.15) 
$$f(BAB^*) = BA^{1-\alpha} f(A^{\alpha}B^*BA^{1-\alpha}) A^{\alpha-1}B^{-1},$$

provided  $\|BAB^*\|$ ,  $\|A^{\alpha}B^*BA^{1-\alpha}\| < R$ . In particular,

(2.16) 
$$f(BAB^*) = BA^{1/2}f(A^{1/2}B^*BA^{1/2})A^{-1/2}B^{-1},$$

provided  $||BAB^*||$ ,  $||A^{1/2}B^*BA^{1/2}|| < R$ ,

(2.17) 
$$f(BAB^*) = BAf(B^*BA)A^{-1}B^{-1},$$

provided  $||BAB^*||$ ,  $||B^*BA|| < R$  and

(2.18) 
$$f(BAB^*) = Bf(AB^*B)B^{-1},$$

provided  $||BAB^*||$ ,  $||AB^*B|| < R$ .

**Remark 2.** We also have, by (2.16) that

$$f(BAB^*)B = BAA^{-1/2}f(A^{1/2}B^*BA^{1/2})A^{-1/2}$$

or

$$(BA)^{-1} f (BAB^*) B = A^{-1/2} f \left( A^{1/2} B^* B A^{1/2} \right) A^{-1/2}$$

namely

$$A^{-1}B^{-1}f(BAB^*)B = A^{-1/2}f\left(A^{1/2}B^*BA^{1/2}\right)A^{-1/2}.$$

If in this equality we replace A by  $A^{-1}$ , then we get

(2.19) 
$$AB^{-1}f\left(BA^{-1}B^*\right)B = A^{1/2}f\left(A^{-1/2}B^*BA^{-1/2}\right)A^{1/2},$$

provided that A and B are invertible, A is positive and

$$||BA^{-1}B^*||, ||A^{-1/2}B^*BA^{-1/2}|| < R.$$

We also observe that, if  $A, B \in \mathcal{B}(H)$  with A positive and  $||A|| ||B||^2 < R$ , then  $||BAB^*||, ||A^{\alpha}B^*BA^{1-\alpha}|| < R$  and the equality (2.15) holds true. In particular, if R = 1 and ||A||, ||B|| < 1, then the conclusion of Theorem 2 remains valid. This fact provides many examples since numerous fundamental functions defined as power series are convergent on the open disk D(0,1). Some instances of interest are provided below.

If we consider the exponential function  $f(z) = \sum_{n=0}^{\infty} \frac{1}{n!} z^n = \exp(z), z \in \mathbb{C}$ , then from (2.15)-(2.18) we get

(2.20) 
$$\exp(BAB^*) = BA^{1-\alpha} \exp(A^{\alpha}B^*BA^{1-\alpha}) A^{\alpha-1}B^{-1}$$
$$= BA^{1/2} \exp(A^{1/2}B^*BA^{1/2}) A^{-1/2}B^{-1}$$
$$= BAf \exp(B^*BA) A^{-1}B^{-1} = B \exp(AB^*B) B^{-1}$$

for any invertible  $A, B \in \mathcal{B}(H)$  with A positive and  $\alpha \in [0, 1]$ . If we consider  $f(z) = \sum_{n=0}^{\infty} z^n = (1-z)^{-1}$ ,  $z \in D(0, 1)$ , then for any invertible  $A, B \in \mathcal{B}(H)$  with A positive, ||A||, ||B|| < 1 and  $\alpha \in [0, 1]$ , we have

$$(2.21) \qquad (1_H - BAB^*)^{-1} = BA^{1-\alpha} (1_H - A^{\alpha}B^*BA^{1-\alpha})^{-1} A^{\alpha-1}B^{-1} = BA^{1/2} (1_H - A^{1/2}B^*BA^{1/2})^{-1} A^{-1/2}B^{-1} = BA (1_H - B^*BA)^{-1} A^{-1}B^{-1} = B (1_H - AB^*B)^{-1} B^{-1}$$

and by using the function  $f(z) = \sum_{n=1}^{\infty} \frac{1}{n} z^n = \ln(1-z)^{-1}$ ,  $z \in D(0,1)$ , then for any invertible  $A, B \in \mathcal{B}(H)$  with A positive, ||A||, ||B|| < 1 and  $\alpha \in [0,1]$ , we have

(2.22) 
$$\ln (1_H - BAB^*)^{-1} = BA^{1-\alpha} \ln (1_H - A^{\alpha}B^*BA^{1-\alpha})^{-1} A^{\alpha-1}B^{-1}$$
$$= BA^{1/2} \ln (1_H - A^{1/2}B^*BA^{1/2})^{-1} A^{-1/2}B^{-1}$$
$$= BA \ln (1_H - B^*BA)^{-1} A^{-1}B^{-1}$$
$$= B \ln (1_H - AB^*B)^{-1} B^{-1}.$$

 $\mathbf{6}$ 

#### 3. Applications

We have:

**Proposition 1.** Let  $\Phi(z) = \sum_{n=0}^{\infty} \alpha_n z^n$  be a function defined by power series with complex coefficients and convergent on the open disk  $D(0, R) \subset \mathbb{C}$ , R > 0 or on  $\mathbb{C}$ , for  $R = \infty$ . Assume that  $A, B \in \mathcal{B}(H)$  with A positive and invertible, B selfadjoint and  $||A^{-1}B||$ ,  $||A^{-1/2}BA^{-1/2}|| < R$ , then

(3.1) 
$$\mathcal{P}_{\Phi}(B,A) = \mathcal{Q}_{\Phi}(B,A).$$

The proof follows by Corollary 2 for  $f = \Phi$ .

**Proposition 2.** Let  $\Phi(z) = \sum_{n=0}^{\infty} \alpha_n z^n$  be a function defined by power series with complex coefficients and convergent on the open disk  $D(0,R) \subset \mathbb{C}$ , R > 0 or on  $\mathbb{C}$ , for  $R = \infty$ . Assume that  $A, B \in \mathcal{B}(H)$  are invertible with A positive and  $||A^{-1/2}B^*||$ ,  $||BA^{-1/2}|| < \sqrt{R}$ , then

(3.2) 
$$\mathcal{P}_{\Phi}\left(\left|B\right|^{2},A\right) = AB^{-1}f\left(\left|A^{-1/2}B^{*}\right|^{2}\right)B.$$

The proof follows by the identity (2.19) for  $f = \Phi$ . If we take in (3.2)  $B = C^{1/2}$  where C is positive and invertible, then we get

$$\mathcal{P}_{\Phi}(C,A) = AC^{-1/2} f\left(C^{1/2}A^{-1}C^{1/2}\right)C^{1/2}$$
$$= AC^{-1/2} f\left(C^{1/2}A^{-1}C^{1/2}\right)C^{-1/2}C = A\mathcal{P}_{\Phi}\left(A^{-1},C^{-1}\right)C.$$

Therefore we can state the following result of interest:

**Corollary 4.** Let  $\Phi(z) = \sum_{n=0}^{\infty} \alpha_n z^n$  be a function defined by power series with complex coefficients and convergent on the open disk  $D(0,R) \subset \mathbb{C}$ , R > 0 or on  $\mathbb{C}$ , for  $R = \infty$ . Assume that  $B, A \in \mathcal{B}(H)$  are invertible, positive and  $||A^{-1}B||$ ,  $||BA^{-1}|| < R$ , then

(3.3) 
$$\mathcal{P}_{\Phi}(A^{-1}, B^{-1}) = A^{-1}\mathcal{P}_{\Phi}(B, A) B^{-1}.$$

If, for instance we consider the function  $f(z) = \sum_{n=0}^{\infty} \frac{1}{n!} z^n = \exp(z), z \in \mathbb{C}$ , then for A positive and invertible and B selfadjoint, we have

$$\mathcal{P}_{\exp}(B,A) := A^{1/2} \exp\left(A^{-1/2} B A^{-1/2}\right) A^{1/2}, \ \mathcal{Q}_{\exp}(B,A) := A \exp\left(A^{-1} B\right)$$

and by (3.1) we obtain

(3.4) 
$$\mathcal{P}_{\exp}(B,A) = \mathcal{Q}_{\exp}(B,A).$$

Moreover, if A and B are positive and invertible, then by (3.3) we get

(3.5) 
$$\mathcal{P}_{\exp}(A^{-1}, B^{-1}) = A^{-1}\mathcal{P}_{\exp}(B, A)B^{-1}$$

Similar equalities hold for the trigonometric functions  $\sin z$ ,  $\cos z$  or for hyperbolic functions  $\sinh z$  and  $\cosh z$ . The details are omitted.

## S. S. $DRAGOMIR^{1,2}$

#### References

- S. S. Dragomir, Some new reverses of Young's operator inequality, *RGMIA Res. Rep. Coll.* 18 (2015), Art. 130. [Online http://rgmia.org/papers/v18/v18a130.pdf].
- [2] S. S. Dragomir, On new refinements and reverses of Young's operator inequality, RGMIA Res. Rep. Coll. 18 (2015), Art. 135. [Online http://rgmia.org/papers/v18/v18a135.pdf].
- [3] S. S. Dragomir, Inequalities for operator noncommutative perspectives of convex functions, *RGMIA Res. Rep. Coll.* 19 (2016), Art. 21. [Online http://rgmia.org/papers/v19/v19a21.pdf].
- [4] S. S. Dragomir, Inequalities for operator noncommutative perspectives of continuously differentiable functions with applications, *RGMIA Res. Rep. Coll.* 19 (2016), Art. 22. [Online http://rgmia.org/papers/v19/v19a22.pdf].
- [5] S. S. Dragomir, Ostrowski type inequalities for operator noncommutative perspective, *RGMIA Res. Rep. Coll.* 19 (2016), Art. 23. [Online http://rgmia.org/papers/v19/v19a23.pdf].
- [6] S. S. Dragomir, New inequalities for operator noncommutative perspectives related to convex functions, *RGMIA Res. Rep. Coll.* 19 (2016), Art. 26. [Online http://rgmia.org/papers/v19/v19a26.pdf].
- [7] S. S. Dragomir, Inequalities for (m, M)- $\Psi$ -convex functions with applications to operator noncommutative perspectives, *RGMIA Res. Rep. Coll.* **19** (2016), Art. 37. [Online http://rgmia.org/papers/v19/v19a37.pdf].
- [8] S. S. Dragomir, Operator superadditivity and monotonicity of noncommutative perspectives, *RGMIA Res. Rep. Coll.* 19 (2016), Art. 56. [Online http://rgmia.org/papers/v19/v19a56.pdf].
- [9] A. Ebadian, I. Nikoufar and M. E. Gordji, Perspectives of matrix convex functions, Proc. Natl. Acad. Sci. USA, 108 (2011), no. 18, 7313-7314.
- [10] E. G. Effros, A matrix convexity approach to some celebrated quantum inequalities, Proc. Natl. Acad. Sci. USA 106 (2009), 1006–1008.
- [11] E. G. Effros and F. Hansen, Noncomutative perspectives, Ann. Funct. Anal. 5 (2014), no. 2, 74–79.
- [12] F. Hansen, Perspectives and completely positive maps. Ann. Funct. Anal. 8 (2017), no. 2, 168–176.
- [13] M. Kian and S. S. Dragomir, f -Divergence functional of operator log-convex functions, Linear and Multilinear Algebra, 2016 Vol. 64, No. 2, 123–135.
- [14] H. R. Moradi, M. S. Hosseini, M. E. Omidvar and S. S. Dragomir, Some lower and upper bounds for relative operator entropy. *Politehn. Univ. Bucharest Sci. Bull. Ser. A Appl. Math. Phys.* **79** (2017), no. 3, 97–106.
- [15] I. Nikoufar, A perspective approach for characterization of Lieb concavity theorem. Demonstr. Math. 49 (2016), no. 4, 463–469.

<sup>1</sup>Mathematics, College of Engineering & Science, Victoria University, PO Box 14428, Melbourne City, MC 8001, Australia.

*E-mail address*: sever.dragomir@vu.edu.au *URL*: http://rgmia.org/dragomir

<sup>2</sup>DST-NRF CENTRE OF EXCELLENCE IN THE MATHEMATICAL AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE AND APPLIED MATHEMATICS,, UNIVERSITY OF THE WITWATERSRAND, PRI-VATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA

8